
P21,* BB = r21,* BB
√
P21,21P* BB URV

P21,P BBB = r21,P BBB
√
P21,21PP BBB UkV

P* BB,P BBB = r* BB,P BBB
√
P* BB,* BBPP BBB,P BBB UjV

P21,21 =
r* BB,P BBB

r21,* BBr21,P BBB

P21,* BBP21,P BBB
P* BB,P BBB

U9V

�bFBM; 7Q`XXX
(* BB) �M/ (P BBB) bm`p2vb Q7 100/2;2

N21 = P21,21

N* BB = P* BB,* BB

NP BBB = PP BBB,P BBB

U8V

�i k = 0.1JT+−1

N* BB ∼ 3× 109

N* BB ∼ 1× 108 (Cv/b`)2 JT+3

N* BB ∼ 4× 106
UeV

B7 ⟨I* BB⟩ = 500

B7 ⟨I* BB⟩ = 100 Cv/b`
B7 ⟨I* BB⟩ = 20

UdV

Q21,* BB,* BB =
Qδ,δ,δ

⟨T21⟩b21
+ C21,* BB,* BB U3V

Q21,* BB,* BB =
Qδ,δ,δ

⟨T21⟩b21
+C21,* BB,* BB UNV

R


